THRISEE

A L C LK
B DEH |A =1 FEERVHRZESE
mms | P s CODEH |A(F#HBIR) o ROA _
St.1 EFR-BEY 1 EBA) KFRKEREESE (=)
—iRIEH _
7Kg (°C)
1 Xg [SsECC) b i £KZE FERE iR =18 R
48 Eh 19.4 17.7 - 9.1 5.3 BE Shkfa-h| ER
68 g 29.1 24.2 — 5.1 4.3 BE kER-h| |R
8H B4l 26.0 27.4 — 4.7 3.8 BE kER-h| &|R
108 —H’E 23.5 25.1 - 3.5 2.0 BE kER-h| E|R
128 g 16.0 15.7 - 5.8 4.2 BE Exfe-E| &R
28| f#Eh 124 13.0 - 2.7 2.7 K I = el ol B
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%1E] 1.8~83] 15LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
B (75%IE) - 7.8 1.7(2.1) - <0.5 0.34 0.031
4H == 8.1 7.9 0.8 - <0.5 0.25 0.024
hE - - - - - - -
65 fg 8.0 6.6 2.1 - <0.5 0.31 0.028
8H == 8.1 6.9 2.1 - <0.5 - -
hE - - - - - - -
108 fg 7;9 7;8 2;1 - <(1.5 o.:14 0.(146
128 fg 8;1 8;9 1;5 - <(1.5 0.3,4 o.(124
== 8.1 8.6 15 - <0.5 - -
2R
fE - - - - - - -
BEER (RBDHAHEHAD
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
vonnoi | miEk [1,2-0900( 1,1-Syaa [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | MO0
sy B THY IFLy | BAIFLY | OIAY Axsy | IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




TS0 (1,3-24n — . —paee FAARL Sa s .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EFEjE — — — — — — — —
48 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2B - - - - - - - -
ZNfth1E H
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 - - -
=B - - 1 - - -
4H ;E _ _ _ _ _ —
—_ —_ 2 —_ —_ —_
6 ﬁ ;E _ _ _ _ — —
—_ —_ 2 —_ —_ —_
8 ﬁ ;E _ _ _ _ — —
—_ —_ ‘I —_ —_ —_
10A ; E — — — — — —
—_ —_ ‘I —_ —_ —_
124 ; E — — — — — —
—_ —_ <1 —_ —_ —_
2R i — — - — — —
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EBIE] 17000 - 0.02
EE] 19000 - 0.01
18000 - 0.01
18000 - -
16000 - 0.03
10A ; E ~ — ~
15000 - 0.01
124 ; E ~ — ~
18000 - -
2R i = — —



THISEE

BA L CILHKE
5 B — COD¥E®! [A(E#ER) BERERUVHBRZEEE
" St.2 ER-BEB T EBS) RAEKEREESE (=)
—i%IEH _
K& (°C)
1 X [SsECC) EA fE 2 KE FERE i =18 B&
4 8 Eh 19.6 17.3 — 114 7.3 BE S ms
64 Eh 27.1 23.9 — 9.2 6.5 BE kEf-R| &\K
8AH N 26.0 26.8 — 9.6 7.3 BE keaf-h| &S
108 £ 24.0 25.2 — 8.9 3.0 B kEaf-E| &R
128 Fh 16.8 17.7 - 9.1 6.3 BE ERE-E| &R
28| f#Eh 12.2 13.0 - 10.0 7.0 K I = el ol B
4RIRIRIBER _ _
oH DO CcOoD KIBEERY In-~FHof 22% Ey
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%E) - 8.4 1.5(1.7) 25 <0.5 0.18 0.013
4H =B 8.1 8.4 0.9 - <0.5 0.17 0.015
b & - - - - - - -
65 =B 8.1 7.6 15 0.0 <0.5 0.16 0.008
8.1 7.7 1.7 - <0.5 - -
G 7, - - : 3 ; 3
8.1 8.4 1.7 50 <0.5 0.25 0.016
10A ; E ~ ~ =~ — — = —
8.2 9.3 1.8 - <0.5 0.12 0.014
128 ; E = = = — — — —
8.2 8.9 1.2 - <0.5 - -
2
BEBEEH(RBOAEA)
LIS INIESD P E ANlo0OL T fikER |7ZL¥LKEE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JERRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
48 - - - - - - - -
68| <0002 - <0.005 <0.02 0.001 <0.0005 - -
8AH - - - - - - - -
108] <o0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2Al - - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lzx-12-C4|1,1,1-k) Al 112-ky4a | F)20O0O
sy B THY IFLy | BAIFLY | AIAY nxsy | TFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8hH - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - -




Fh5490n(1,3-o450 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[ B #{E] 0.01LLF [0.0020F | 0.006LLF | 0.003LLF [ 0.02ELF | 001LLF | 001ELF | 10ELF
EHE]  <0.001 [ <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
47 - - - - - - - -
68| <0001 [ <00002 [ <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8A - - - - - - - -
108[ <0001 | <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.03
128 - - - - - - - -
28 - - - - - - - -
ZNDHhIEE
A
Jx/—) R SS ey |(sookILA 7 ILFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 <0.005 - -
=B - - 2 - - -
4H ;E _ _ _ _ — —
—_ —_ <1 —_ —_ —_
i 7, - : ; ; - -
- - 3 <0.005 - -
G 7, : . : : :
—_ —_ 4 —_ —_ —_
10A ; E — — - — — —
—_ —_ ‘I —_ —_ —_
128 ; E — — — — — —
—_ —_ <1 —_ —_ —_
2
fi‘ﬁ@ iggﬁ B
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 - <0.01
== 20000 - <0.01
19000 - <0.01
18000 - -
19000 - <0.01
108 ; E ~ — =
19000 - <0.01
128 ; E ~ — =
19000 - -
2



THISEE

BA L CILHKE
5 B — CODHR! (A(KER) BERERUVHBRZEEE
" St.3 ER-BEB T GEBS) RAEKEREESE (=)
—i%IEH _
K& (°C)
1 _XE [KE(CC) EA fE 2 KE FERE i =Xz B&
4A Eh 22.1 17.4 — 15.0 6.5 BE S me
68 gEh 26.1 23.4 - 18.1 8.6 B ERE-E| &R
8A Eh 26.0 26.6 — 17.2 8.1 BE et - |
108 £1) 235 25.0 - 16.8 45 B kEaf-E| &R
128 Eh 17.0 18.6 - 17.3 75 BE ERE-E| &R
2 Eh 12.4 13.2 - 17.4 7.0 B EReE-E] &R
4RIRIRIBER _ _
oH DO CcOoD KIGERY In-~FHoH 22F Ey
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%ME) - 8.4 1.3(1.6) 15 <0.5 0.13 0.014
48 =B 8.1 8.7 0.8 - <0.5 0.15 0.017
b & - - - - - - -
65 fg 8.1 75 1.3 0.0 <0.5 0.12 0.008
=B 8.2 7.7 1.6 - <0.5 - -
8A
b & - - - - - - -
108 fg 8;1 8;6 1? 3_0 <(3.5 o._1 2 o.(11 5
128 fg 8;1 9f) 1;5 = <(3.5 o._1 4 o.(114
25 =B 8.3 8.8 1.6 - <0.5 - -
fE - - - - - - -
BEEEH(RBOAEHA)
LININIESY P E ANlo0OL TS fikER |7ZL¥LKE| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JERRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
48 - - - - - - - -
68| <0002 - <0.005 <0.02 0.001 <0.0005 - -
8hH - - - - - - - -
108]| <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2 —_ —_ —_ —_ —_ —_ —_ —_
ooanid | mige [1,2->o00] 1,1-CHan [Lzx-12-C4|1,1,1-k)Hal 112-ky4a | MO0
9‘/ b IG!‘/ IFLY AapnITFLYy aT4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8hH - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - -




FhS5490n(1,3-o450 = S ot FARY oo, a8 . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| F{E] 0.01LLF [0002L1F | 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EHE]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
4R - - - - - - - -
6H| <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
8H - - - - - - - -
10A] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 0.01
128 - - - - - - - -
2 — — — — — — — —
ZEDMIER
RILL
Jz/—) & Ss SEHR | JOOFRIVL| 5 ok
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - - 2 <0.005 - -
xE - - 1 - - -
1 e e s B ‘
— — ‘I — — —
e i - ‘
- - 4 <0.005 - -
e s ‘
10R ; E - - - - - -
— — ‘I — — —
12R ; E - - — - - -
2
Bt | WIHEM . .
(mg/1) (mg/1) (mg/1)
¥E] 19000 <0.01 <0.01
EAC] 20000 - <0.01
19000 <0.01 <0.01
19000 - -
19000 - <0.01
10R ; E = - -
19000 - <0.01
12R ; E = - -
19000 - -
2




THRISEE

A L T LK
e B — COD¥EE! | A(##BIA) FHERERVHERZEESE
" St.4 EFR-BEY 1 EBA) KFRKEREESE (=)
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE FERE Fiin =Xz R
48 g 23.4 17.0 - 20.5 8.3 BE k-2 ER
68 g 27.1 23.3 - 15.9 11.5 BE Exf-E| &R
8H N 26.0 26.6 — 15.9 7.3 BE Exfa-h| &R
108 £ 24.0 25.2 - 15.8 5.3 BE kER-E| BR
128 Fh 175 18.4 - 16.0 7.0 BE kER-E| BR
28| #Eh 124 131 - 16.5 6.5 BE | FRe-h) &S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEME| 78~83| 75LLF | 20LLF | 1000LIF | JEieth 03LLF | 0.03LLF
B (75%IE) - 8.4 1.8(2.0) - <0.5 0.13 0.013
48 == 8.2 8.6 0.6 - <0.5 0.16 0.014
hE - - - - - - -
65 == 8.1 7.1 0.9 - <0.5 0.13 0.010
8.1 7.5 1.9 - <0.5 - -
8.0 8.5 0.8 - <0.5 0.08 0.013
10A ;E = = ~ — — — —
8.2 9.2 15 - <0.5 0.14 0.014
128 ;E = = = — — — —
8.3 9.2 1.2 - <0.5 - -
2R i - ~ - — = — —
BEEE (REBDHEHA)
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,12-ry4a | RSO0
Ay &R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




FrS4aA|1,3-C4Hn _ . aes FAA: R .
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #{E] 0.01LLTF | 000260 F | 0.006LLF | 0.003LLF | 0.02LLF | 001LLF | 001LLF | 10LLF
EF_EE — — — — — — — —
48 - - - - - - - -
68 - - - - - - - -
8hH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2l - - - - - - - -
ZNHIEE
I L
Jz/—) 7] SS ey |(sookILA FLFER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 1 - - -
=B - - < - - -
—_ —_ 1 —_ —_ —_
—_ —_ 2 —_ —_ —_
8 ﬁ ;E _ _ _ - — —_
—_ —_ <1 —_ —_ —_
10A ; E — — ~— — — —
—_ —_ 1 —_ —_ —_
128 ; E — — — — — —
—_ —_ 1 —_ —_ —_
28 i — — — — — —
fi‘ﬁ@ iggﬁ U B
(mg/1) (mg/1) (mg/1)
EHTE] 19000 - <0.01
=B 20000 - <0.01
4ﬁ ;E _ _ _
19000 - <0.01
19000 - -
19000 - <0.01
108 ; E ~ — =
19000 - <0.01
128 ; E ~ — =
19000 - -
28 i = — —



THRISEE

BA L CILHKE
5 B — CODHR! |A(KESR) BERERUVHBRZEEE
" St.5 ER-BEB T EBS) RREKEREESE (=)
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE FERE iR =Xz B&
47 Eh 20.7 17.0 — 22.5 9.0 BE ek -h| &R
68 Eh 28.2 23.1 - 12.2 10.3 BE ERE-E| &R
8AH Eh 26.0 26.4 — 12.1 7.9 BE TRt |
108 £ 241 25.3 - 12.8 5.3 BE kEaf-E| &R
128 Eh 17.8 18.4 - 13.2 6.0 BE kEaf-E| &R
28 Eh 12.6 13.1 - 13.3 7.1 B | Hikf-h| &R
4RIRIKIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
BElE| 7.8~83] 75LLE | 20LLF | 1000LLF | JERH 0.3LLF | 0.03LLF
EHE(75%ME) - 8.2 1.1(1.6) 2.0 <0.5 0.13 0.012
4H =B 8.1 8.6 0.5 - <0.5 0.14 0.014
b & - - - - - - -
65 =B 8.0 6.9 0.9 0.0 <0.5 0.12 0.008
8.2 7.3 1.9 - <0.5 - -
G 7, I 3 X ; 3 : 3
8.1 8.5 0.6 4.0 <0.5 0.10 0.013
10A ; E ~ = = = — — —
8.2 9.2 1.6 - <0.5 0.14 0.014
128 ; E = = = — — — —
8.2 8.8 1.0 - <0.5 - -
2
BEEB (REBDHEHHR)
LIS INIES P E ANEo0OL T fikER |7L¥LKER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JEtRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
48 - - - - - - - -
68| <0.002 - <0.005 <0.02 0.001 <0.0005 - -
8A - - - - - - - -
108]| <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
28 - - - - - - -
ooanid | mige [1,2->o00] 1,1-CHan [Lzx-12-C4|1,1,1-k) Al 11,2-ky4a | MO0
9‘/ b IG!‘/ IFLY AapnITFLY aT4y aT4ay IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[ E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - -




Fh5490n(1,3-o40 = St FARY S . MREERRY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| F{E] 0.01LLF [0002L1F | 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
EHE]  <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
4R - - - - - - - -
6H| <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8AH - - - - - - - -
10H] <0.001 <0.0002 <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
28] - - - - - - -
EDHMIER
RILL
/- L Ss SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHME - - 1 <0.005 - -
xE - - <1 - - -
R | e e e s s
— — ‘I — — —
o e s s e
- - 2 <0.005 - -
o e s s B e
10R ; E - - - - - -
— — 2 — — —
12R ; E - - = - - -
2
By | HHERK . .
(mg/1) (mg/1) (mg/1)
¥{E] 19000 <0.01 <0.01
EAC 20000 - <0.01
19000 <0.01 <0.01
19000 - -
19000 - <0.01
10R ; E = - -
19000 - <0.01
12R ; E = - -
19000 - -
2



THRISEE

A L C LK
B DER | A =1 FEERVHRZESE
waz| * — COD¥H! (*ﬁﬁfb ) = 2O >
St.6 EXR-HEB I (RES) RREKEREREE (=)
—iRIEH _
7Kg (°C)

1 X | SUB (°C) b i 2 KE FERE iR =18 B
4H| BZEY 20.4 15.9 - 24.5 6.3 BE Shkfa-h| ER
68 B4l 28.7 22.7 — 30.7 9.5 BE Exf-E| &R
8H g 26.0 26.4 - 30.1 12.3 BE k-2 ER
108 £ 23.6 25.3 - 30.0 7.6 BE x| ER
128 Eh 18.0 18.4 - 30.1 6.5 BE kER-E| BR
28| f#Eh 12.1 135 - 30.4 74 B | Hikf-h| &R

4EFRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 75LLE | 20LLF | 1000LLF | FEiRH 0351 F_ | 0.03LLF
B (75%IE) - 8.2 1.2(1.7) - <0.5 0.16 0.016
4H == 8.1 8.7 0.6 - <0.5 0.20 0.022
hE - - - - - - -
== 8.0 7.1 1.1 - <0.5 0.21 0.011
8H fg 8.1 7.1 1.7 - <0.5 0.10 0.009
108 fg 8;1 8;8 1;1 - <(1.5 0.99 0.91 1
128 fg 8;2 8;9 1;9 - <(1.5 o._1 5 0.91 5
25 == 8.2 8.4 0.9 - <0.5 0.21 0.027
fE - - - - - - -
BEER (RBDHAEHAD
NP INIESDY & ED Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -
vonnoi | miEk [1,2->900( 1,1-Syan [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | AIAY Axsy | ITFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 L F | 0.03LLF
EF_EE — — — — — — — —
47 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - - -




TEZORRILETZE Fosa | vy | TAY | moby | by [MRERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| ZE(E] 0.01LLF [0.00254F [ 0.00654F [ 0.00354F | 0.028LF [ 0.01LLF [ 001 F [ 10LLF
EF_EjE — — — — - - - -
a8 - - - - - - - -
6A - - - - - - - -
8AH - - - - - - - -
10A - - - - - - - -
124 - - - - - - - -
28 = = = = = = = =
ZDHIFE
_ AL
/- L Ss SEMR | JOOFRIVL| 5 o
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FREl - = 2 = = =
2B | - - G - - -
4R
;- - - - - - -
RE - - 2 - - -
— — 2 — — —
8 ﬁ ;E _ _ _ _ — —
— — 2 — — —
108 ; E - — = — — —
— — 2 — — —
128 ; E — — = — — —
— — <1 — — —
2R
;- 3 3 3 - - -
Bl | BEEE ) ome
——— R e T
=B 19000 - 20.01
4R
;] - - 3
68 =B 19000 - <001
;] 2 - :
8 =B 19000 - -
o — ‘
19000 - <001
108
P E - - -
128 =B 19000 - <001
;] 2 - :
2R =B 19000 - -
;- 3 3 3



